Table S1. Motif-based scores and test statistics for all statistical methods. 
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75d NS-UD vs. UD-UD means paired t-test wilcoxon bootstrap

similarity 85.74, 82.69

0.011 0.001 <0.001

accuracy 83.10, 81.75

<0.005 0.002 <0.001

stereotypy 70.69, 64.95 0.055

0.042 0.036

65d NS-UD vs. UD-UD

similarity 83.76, 83.53 0.870 0.922 0.878

accuracy 79.92, 79.97 0.940 0.846 0.932

stereotypy 57.78, 55.56 0.568 0.770 0.596

75d NS-UD vs. 65d NS-UD

similarity 85.15, 84.05 0.511 0.426 0.514

accuracy 82.66, 80.11

0.006 0.004 0.002

stereotypy 72.65, 56.30

0.010 0.012 0.008

75d UD-UD vs. 65d UD-UD

similarity 82.17, 83.69 0.346 0.496 0.334

accuracy 81.46, 79.89

0.021 0.020 0.016

stereotypy 66.32, 54.84 0.095 0.164

0.010
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		MOTIFS

		Standard entropy

		Table 4								make sure to put group we expect to have higher scores first		divide by 2 for one-tailed value		take pvalbig output

										[h,p]=ttest(ns75(1:9,1),ns65(1:9,1),.05,'right')		p=signrank(ns75(1:9,1),ns65(1:9,1))/2		bootstrapMEANSPAIRED(ns75(1:9,1),ns65(1:9,1))

		Motif-based

				75d NS-UD vs. UD-UD		means		paired t-test (excel)		paired t-test (matlab,'right' tail)		wilcoxon		bootstrapMEANSPAIRED		bootstrapRANKMEANSPAIRED

		similarity				85.74, 82.69		0.005		0.006		0.000		< 0.0001		< 0.0001

		accuracy				83.10, 81.75		0.000		0.000		0.001		0.001		0.000

		stereotypy				70.69, 64.95		0.027		0.027		0.021		0.018		0.019

		combined				50.56,44.06		0.004		0.004		0.002		0.001		0.001

				65d NS-UD vs. UD-UD

		similarity				83.76, 83.53		0.435		0.435		0.461		0.451		0.442

		accuracy				79.92, 79.97		0.470		0.530		0.577		0.539		0.484

		stereotypy				57.78, 55.56		0.284		0.284		0.385		0.296		0.255

		combined				38.95, 37.41		0.305		0.305		0.278		0.294		0.465

				75d NS-UD vs. 65d NS-UD

		similarity				85.15, 84.05		0.255		0.255		0.213		0.260		0.275

		accuracy				82.66, 80.11		0.003		0.003		0.002		< 0.0001		< 0.0001

		stereotypy				72.65, 56.30		0.005		0.005		0.006		0.003		0.004

		combined				51.38, 38.26		0.004		0.004		0.010		0.007		0.010

				75d UD-UD vs. 65d UD-UD

		similarity				82.17, 83.69		0.173		0.827		0.752		0.829		0.832

		accuracy				81.46, 79.89		0.010		0.010		0.010		0.008		0.001

		stereotypy				66.32, 54.84		0.047		0.047		0.082		0.050		0.036

		combined				44.62, 37.01		0.054		0.054		0.065		0.050		0.083





1secclipsunweighted

		

		1sec clips

		Standard entropy- first 300 syls, no end transitions

		Table 5								make sure to put group we expect to have higher scores first		divide by 2 for one-tailed value		take pvalbig output

										[h,p]=ttest(ns75(1:9,1),ns65(1:9,1),.05,'right')		p=signrank(ns75(1:9,1),ns65(1:9,1))/2		bootstrapMEANSPAIRED(ns75(1:9,1),ns65(1:9,1))

		Clip/String-based, unweighted

				75d NS-UD vs. UD-UD		means		paired t-test (excel)		paired t-test (matlab,'right' tail)		wilcoxon		bootstrapMEANSPAIRED		bootstrapRANKMEANSPAIRED

		similarity				82.45, 80.25		0.029		0.030		0.042		0.031		0.018

		accuracy				80.20, 79.39		0.010		0.010		0.016		0.011		0.033

		stereotypy				72.45, 66.10		0.005		0.005		0.002		0.001		0.003

		combined				47.79, 42.36		0.002		0.002		0.003		0.002		0.002

				65d NS-UD vs. UD-UD

		similarity				84.51, 82.44		0.013		0.014		0.010		0.007		0.007

		accuracy				78.16, 77.89		0.343		0.343		0.500		0.346		0.480

		stereotypy				65.97, 62.23		0.097		0.097		0.116		0.092		0.069

		combined				43.43, 39.83		0.047		0.047		0.042		0.049		0.039

				75d NS-UD vs. 65d NS-UD

		similarity				82.28, 84.73		0.973		0.973		0.963		0.975		0.946

		accuracy				80.04, 78.17		0.008		0.008		0.006		0.003		0.002

		stereotypy				73.35, 64.87		0.009		0.010		0.006		0.004		0.006

		combined				48.17, 42.82		0.016		0.017		0.020		0.012		0.007

				75d UD-UD vs. 65d UD-UD

		similarity				80.53, 82.40		0.153		0.847		0.850		0.851		0.871

		accuracy				79.44, 77.81		0.024		0.024		0.037		0.027		0.041

		stereotypy				67.21, 60.78		0.033		0.034		0.037		0.031		0.039

		combined				43.27, 38.81		0.053		0.053		0.082		0.048		0.022





1secclipsweighted

		

		1sec clips

		Frequency weighted entropy- first 300 syls, no end transitions

		Table 6								make sure to put group we expect to have higher scores first		divide by 2 for one-tailed value		take pvalbig output

										[h,p]=ttest(ns75(1:9,1),ns65(1:9,1),.05,'right')		p=signrank(ns75(1:9,1),ns65(1:9,1))/2		bootstrapMEANSPAIRED(ns75(1:9,1),ns65(1:9,1))

		Clip/String-based, weighted

				75d NS-UD vs. UD-UD		means		paired t-test (excel)		paired t-test (matlab,'right' tail)		wilcoxon		bootstrapMEANSPAIRED		bootstrapRANKMEANSPAIRED

		similarity				82.45, 80.25		0.029		0.030		0.042		0.031		0.018

		accuracy				80.20, 79.39		0.010		0.010		0.016		0.011		0.033

		stereotypy				83.59, 78.45		0.024		0.024		0.016		0.012		0.015

		combined				55.18, 50.14		0.007		0.007		0.007		0.004		0.008

				65d NS-UD vs. UD-UD

		similarity				84.51, 82.44		0.013		0.014		0.010		0.007		0.007

		accuracy				78.16, 77.89		0.343		0.343		0.500		0.346		0.480

		stereotypy				80.44, 79.53		0.307		0.307		0.385		0.307		0.245

		combined				52.94, 50.96		0.133		0.133		0.216		0.150		0.150

				75d NS-UD vs. 65d NS-UD

		similarity				82.28, 84.73		0.973		0.973		0.963		0.975		0.946

		accuracy				80.04, 78.17		0.008		0.008		0.006		0.003		0.002

		stereotypy				83.28, 80.30		0.083		0.083		0.082		0.076		0.025

		combined				54.71, 52.97		0.136		0.136		0.326		0.143		0.169

				75d UD-UD vs. 65d UD-UD

		similarity				80.53, 82.40		0.153		0.847		0.850		0.851		0.871

		accuracy				79.44, 77.81		0.024		0.024		0.037		0.027		0.041

		stereotypy				79.19, 78.83		0.452		0.452		0.150		0.472		0.217

		combined				50.83, 50.41		0.435		0.435		0.180		0.445		0.237





all

		

		Motif-based

		75d NS-UD vs. UD-UD		means		paired t-test		wilcoxon		bootstrap

		similarity		85.74, 82.69		0.011		0.001		<0.001

		accuracy		83.10, 81.75		<0.005		0.002		<0.001

		stereotypy		70.69, 64.95		0.055		0.042		0.036

		65d NS-UD vs. UD-UD

		similarity		83.76, 83.53		0.870		0.922		0.878

		accuracy		79.92, 79.97		0.940		0.846		0.932

		stereotypy		57.78, 55.56		0.568		0.770		0.596

		75d NS-UD vs. 65d NS-UD

		similarity		85.15, 84.05		0.511		0.426		0.514

		accuracy		82.66, 80.11		0.006		0.004		0.002

		stereotypy		72.65, 56.30		0.010		0.012		0.008

		75d UD-UD vs. 65d UD-UD

		similarity		82.17, 83.69		0.346		0.496		0.334

		accuracy		81.46, 79.89		0.021		0.020		0.016

		stereotypy		66.32, 54.84		0.095		0.164		0.010

		Clip/String-based, unweighted

		75d NS-UD vs. UD-UD		means		paired t-test		wilcoxon		bootstrap

		similarity		82.45, 80.25		0.029		0.042		0.030

		accuracy		80.20, 79.39		0.009		0.016		0.011

		stereotypy		72.45, 66.10		0.005		0.002		0.001

		65d NS-UD vs. UD-UD

		similarity		84.51, 82.44		0.013		0.010		0.007

		accuracy		78.16, 77.89		0.343		0.500		0.346

		stereotypy		65.97, 62.23		0.097		0.116		0.092

		75d NS-UD vs. 65d NS-UD

		similarity		82.28, 84.73		0.973		0.963		0.975

		accuracy		80.04, 78.17		0.008		0.006		0.003

		stereotypy		73.35, 64.87		0.009		0.006		0.004

		75d UD-UD vs. 65d UD-UD

		similarity		80.53, 82.40		0.847		0.850		0.851

		accuracy		79.44, 77.81		0.024		0.037		0.027

		stereotypy		67.21, 60.78		0.033		0.037		0.031

		Clip/String-based, weighted

		75d NS-UD vs. UD-UD		means		paired t-test		wilcoxon		bootstrap

		similarity		82.45, 80.25		0.029		0.042		0.031

		accuracy		80.20, 79.39		0.009		0.016		0.011

		stereotypy		83.59, 78.45		0.024		0.016		0.012

		65d NS-UD vs. UD-UD

		similarity		84.51, 82.44		0.013		0.010		0.007

		accuracy		78.16, 77.89		0.343		0.500		0.346

		stereotypy		80.44, 79.53		0.307		0.385		0.307

		75d NS-UD vs. 65d NS-UD

		similarity		82.28, 84.73		0.973		0.963		0.975

		accuracy		80.04, 78.17		0.008		0.006		0.003

		stereotypy		83.28, 80.30		0.083		0.082		0.076

		75d UD-UD vs. 65d UD-UD

		similarity		80.53, 82.40		0.847		0.850		0.851

		accuracy		79.44, 77.81		0.024		0.037		0.027

		stereotypy		79.19, 78.83		0.452		0.150		0.472






